log AY/Y)

log (Y/AY)

LABJNDu2-Normhelligkeit L*
L* YHC_L* ﬂC_lOO’

L* | aBanDu2=[IN[(A 17+A2a)I(A 2nA0n)] (Yao/100<Y<=Y,0)
L* \(3.6)=146 L* ,(18)=332,L*,,(90)=517

| ool 7120 033

Anwendungs»
bereich

1Y,=18

LABJINDu2

Normfarbwertdifferenz

Yoc=L*w - nc=100,
L* L aBanDu2 =[IN[(A 1n+A2nV))(A20A0n] (Yn/100<Y<=Yyc)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pes1,5, Agn,a=1,0, siehe CIE 230:2019

-
7

LABJINDu2
. Normfarbwertemfindlichkeit
SHEYY Yoc=L*w - nc=100,

L* Laganpuz=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
AYIY=Agr A 1Az YIY

YN=3.6  Yy=90
LABJINDU2

- Normfarbwertkontrast
G Yoc=L*w - nc=100,

L* L aBanDu2=[IN[(A 1r+A2a)I(A 2nA0n)] (Yo 100Y<=Y,0)
YIAY=Y/[A on(A 1+A,Y)]

4=332,dY,=0.17, Y,/dY,

- .-
Iog(YldY):Z,OQ m,=0,11 =~ =~ - -
7~ Anwendungs-
bereich

Y,=18

1 Yw=90

Yn=3.6

Iog(AY/AY )

log [AYY) I (AYIY),]

log [(Y/AY) I (YAY),]

LABJINDu? relative Normhelligkeit L*/L* ,
L*/L* Ync_L w nc‘loov
u

L* | aBanDu2=[IN[(A 10+ A2 )I/(A 2pA0n)] (Yn/100<Y<=Y,0)
L* \(3,6)=146L* ,(18)=332,L*,,(90)=517

log[L*/Lx,
L*,=49,L* —332
Anwendungsv
bereich
1y,=18
Yy =90

] INA=86

LABJNDuZ relative
Normfarbwertdifferenz
Yoc=L*w - -nc=100,

L* L aanDu2=[IN[(A 10+ A2n)I(A2nA0n)] (Yn/100<Y<=Y,0)
AYIY,=Ag A1 +AgYI/AY,

AY/AY,

1 AnwendTJngs-
1 bereich

1v,=18
Y=90

LABJINDuU2 relative
Normfarbwertempfindlichkeit

SSu=@YMIBYN)y v =+ - =100,
L* Laganpu2=[IN[(A 1n+A2nV)V(A 2nA0n)] (Yae/100<Y<=Yyo)
@YIYYAYY,=(AgitAg Y)Y (AYIYY]

N
S

log[(dY/YY(dY/Y),]=0, m=-0,11 -
*,=332, dY,=0,17 dY,/Y,=0,000¢  fnwendungs,

1y,=18
Y=90

YN=3.6

LABJINDuZ relativer

Normfarbwertkontrast
CrlCru=(YIB(YIAY)y y =Ly, =100,

L* L aanDu2=[IN[(A 1n+A2n)I/(A 2nA0n)] (Yn/100<Y<=Y,0)
(VIAYY(YIAY), =Y IYIAY Y)TA onAqrAgr VI (Y/AY),

log[(Y/dYY(Y/dY),]=0, m/=0,11
* =332 dY,=0,17, Y /g 101~ -
7~ Anwendungs-
bereich

YN=3.6  Yw=90




